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90 

Time allowed : 3 hours 

  Maximum Marks : 90 

(i) 

(ii) 31 4 

1 6 2 8 

3 10 4 

3-3  2 4  1 

(iii) 

(iv) 

General Instructions : 
(i) All questions are compulsory. 
(ii) The question paper consists of 31 questions divided into five sections A, B, C, D and

E. Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks each. Section E comprises of two
questions of 3 marks each and 1 question of 4 marks from Open Text theme.

(iii) There is no overall choice.
(iv) Use of calculator is not permitted.

/ SECTION-A 

1 
4 1 

Question numbers 1 to 4 carry one mark each. 

1 OAB O ACB

In the figure, OAB is an equilateral triangle. If O is the centre of the circle, find the measure of  

ACB.

1 
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2 

In a cylinder, if radius is halved and height is doubled, then find its volume. 

1 

3 28 2 : 3 : 2 

The mean age of three students is 28 years.  If the ratio of their ages is 2 : 3 :2 , find their ages. 

1 

4 

14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18. 
Find out the mode from the following data : 
14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18. 

1 

/ SECTION-B 

5 10 2 

Question numbers 5 to 10 carry two marks each. 

5 ABC BC AB D E BC4cm 

ar (BED) 

ABC is an equilateral triangle. D and E are mid-points of sides BC and AB respectively. If
BC 4cm , find ar (BED).

2 

6 45 

Construct an angle of 45, using compass and ruler. 

2 
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7  ABCD DBC58 BAC

In the figure, ABCD is a rectangle with DBC58. Find the measure of BAC. 

2 

8 12 m 44 m 

The circumference of the base of a 12 m high wooden solid cone is 44 m.  Find the volume. 

2 

9 50 150 

A box contains 50 bolts and 150 nuts. On checking the box, it was found that half of the bolts 
and half of the nuts are rusted. If one item is chosen at random, find the probability that it is 
rusted. 

2 

10 3 250 

0 1 2 3 

45 65 52 88 

(i)  2 

(ii) 

Three coins are tossed simultaneously 250 times with the following frequencies of different 
outcomes : 

Number of tails 0 1 2 3 

Frequency 45 65 52 88 

Compute the probability of getting : 
(i) At most 2 heads
(ii) All heads

2 

/ SECTION-C 

11 18 3 

Question numbers 11 to 18 carry three marks each. 
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11 

1.3, 2.1, 1.8, 2.3, 2.2, 1.5. 
Find the median and mean of the given data : 
1.3, 2.1, 1.8, 2.3, 2.2, 1.5. 

3 

12 

17, 2, 7, 25, 25, 5, 14, 18, 10, 24, 10, 8, 7, 10 

The points scored by a team in a series of matches are as follows : 
17, 2, 7, 25, 25, 5, 14, 18, 10, 24, 10, 8, 7, 10 
Find mean, median and mode for the data. 

3 

13 DEF EF P DP Q ar (DQF)6 cm2 ar (EQF)

In DEF, P is mid – point of EF and Q is mid – point of DP. If ar (DQF)6cm2, find ar 

(EQF).

3 

14 

Prove that a cyclic parallelogram is a rectangle. 

3 

15 1 : 3 6 cm

120

Construct a triangle whose two sides are in the ratio 1 : 3 such that their difference is 6 cm and 
angle between them is 120. 

3 

16 ABCD D AB P

CD2AD  

ABCD is a parallelogram in which the bisector of D bisects AB at P.  Show that CD2AD. 

3 
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17 ABC BC4.5 cm, B 45 ABAC2.5 cm

Construct a triangle ABC in which BC4.5 cm, B 45  and ABAC2.5 cm.  Write steps 
of construction. 

3 

18 12320 cm 56 cm 

The curved surface area of a cone is 12320 sq cm. if the radius of its base is 56 cm, find its 
height. 

3 

/ SECTION-D 

19 28 4 

Question numbers 19 to 28 carry four marks each. 

19 

1, 6, 2, 3, 5, 12, 5, 8, 4, 8, 
10, 3, 4, 12, 2, 8, 15, 1, 17, 6, 
3, 2, 8, 5, 9, 6, 8, 7, 14, 12 

(i) 5 5-10

(ii) 15 

Thirty children were asked about the number of hours they watched TV programs in the 
previous week.  The results were found as follows : 
1, 6, 2, 3, 5, 12, 5, 8, 4, 8, 
10, 3, 4, 12, 2, 8, 15, 1, 17, 6, 
3, 2, 8, 5, 9, 6, 8, 7, 14, 12 

(i) Make a grouped frequency distribution table for this data, taking class width 5 and one of the
class intervals as 5-10.  Also draw histogram.
(ii) How many children watched television for 15 or more hours a week ?

4 

20 MNOP MO X 

RQ  MN BS  PM ar(PSXR) ar(BNQX) 

MNOP is a parallelogram as shown in figure.  X is any point on MO. RQMN and BSPM.  
Show that ar(PSXR)ar(BNQX).  

4 
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21 O, B, D  C A, B, D  C O 

BOC, OBC, BAC BDC

O, B, D and C are the vertices of a rhombus and A, B, D and C lie on the circle with centre O, 

as shown in the figure. Find BOC, OBC, BAC and BDC. 

4 

22 PQR Q90, PRPQ3.1 cm  PQ4.5 cm 

Construct a PQR, Q90, PRPQ3.1 cm and PQ4.5 cm. 

4 

23 ABCD ABCD, AB15 cm  CD10 cm X AD  X 

AB XY BC Y  XY 

ABCD is a trapezium with ABCD, AB15 cm and CD10 cm.  X is the midpoint of the 
side AD. Through X, XY is drawn parallel to AB to meet BC at Y. Find the length of XY. 

4 

24 

249.48 

(a) 

` 2 

(b) (
22

7
)

To maintain beauty of a monument, the students of the school cleaned and painted the dome of the 
monument. The monument is in the form of a hemisphere. From inside, it was white washed by the 

students whose area is 249.48 m2.  
(a) Find the volume of the air inside the dome. If white washing costs 

4 
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` 2 per m2, how much does it costs. 

(b) Which value is depicted by the students ?   (Use 
22

7
) 

25  4 cm  1 cm 

A 4 cm edge cube is cut into small cubes each of edge 1 cm.  Calculate the total surface area of 
small cubes.  Also find the ratio of total surface area of large cube to that of the small cubes. 

4 

26  10.5 m  3 m  1 

m3  ` 10 

A heap of wheat is in the form of a cone whose diameter is 10.5 m and height is 

3 m. Find its volume. If cost of 1 m3  wheat is ` 10 then find total cost. Also find slant height of 
heap. 

4 

27  154 cm2

The curved surface area of a cylinder is 154 cm2.  The total surface area of the cylinder is three 
times its curved surface area.  Find the volume of the cylinder. 

4 

28 

In a small town, the types of newspapers distributed in the morning are given below in the 
graph : 

4 
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Find the probability that the family chosen at random is taking both Hindustan times and 
Economic times 

/ SECTION-E 

( /Open Text) 

(* Please ensure that open text of the given theme is supplied with this question paper.) 

Theme : Childhood Obesity in India 

29 BMI 

x y 

A school made BMI chart of all the students and found that number of students who lie in 
normal range are eight times the number of students who lie in overweight  category.  Write a 
linear equation in two variables taking normal range as x and overweight as y. Also draw the 
graph. 

3 

30 

1 60 

Ritu and Reema two friends decide to work out regularly to stay fit.  Ritu decides to walk for 
1 hour every day and Reema decides to run for about 60 minutes every day.  Use the given 
information from the open text to calculate the amount of calories burnt by both of them every 
day and establish a relation between them in the form of a linear equation. 

3 

31 47% 4 
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(a) x y 

(b) 

(c) 

It is stated that by eating fast food one ends up taking 47% more calories than traditional 
Indian food. 
(a) Assuming the calorie intake by Indian food to be x and fast food to be y,  frame a linear

equation establishing a linear equation between the two.
(b) Represent the above equation graphically.
(c) Does the line represented by the above equation pass through 
origin ?

***---***---***
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